




C

F

H
G

E
D

A

optional

I

B

J

K

A. 1- left engine bracket 
1- right engine bracket

B. 2- muffler braces 
(1optional gator tail 
heatshield brace)

C. 4- house clamps
D. 4D. 4- large long bolts 
(m8, 13mm socket) 

E. 2- large short bolts 
(m8, 13mm socket)

F. 7- 8mm lock washers
G. 8- small bolts 
(m6x16, 10mm socket)

H. 8H. 8- m6 nylock nuts 
(10mm socket)

I. 4- engine bracket 
spacers

J. 2- header flanges, 1 
short 1 long

k. 2k. 2- header flange 
gasket



If you have stock carb then put 2 spacers on the left. On right side 
use only 1 spacer and 1 lockwasher to take up gap caused by the 
governor bracket and tighten ( SEE FIGURE 4 )

4. Bolt the bracket to the engine using D (4 large long bolts, m8), 
E (2 large small bolts, m8) and F (8mm lock washers). Use 2 long 
m8 bolts thru 2 spacers on left top holes,( SEE FIGURE 2 & 3 ). 
-- i have found it easier to put top bolt thru 2 spacers first, then 
rotate spacers down to the second bolt hole -- 
Do the same for the right side. Then tighten securely using a 
13mm socket

FIGURE 4

FIGURE 3

2 spacers

3. Assemble the bracket using  G  (8 small bolts, m6x16) and H ( 
nylock nuts). Leave loose enough to allow movement of the 
braces. ( SEE FIGURE 2 )

FIGURE 2

m8 long

m8 short

m6x16

2. Install short header flange on right side, long header flange on 
left side using new exhaust gaskets and stock mounting bolts. 
(SEE FIGURE 1). Leave bolts loose enough to allow the flanges 
to move during installation.

FIGURE 1

stock bolt

1. Remove old exhaust gaskets.

INSTALLATION          PAGE 1




	cover.pdf
	intro
	parts assestment
	installation p1
	installation p2

